DIAGNOSTIC SCORES
SCORE DIAGNOSES ON FACE SHEET: 1 = ABSENT, 5 = PRESENT, 9 = UNCERTAIN

ALCOHOLISM (DSM-IIR):

CRITERIAFOR 5: THREE OR MORE 5S IN Q.1-16
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOWMET PLUS:

TOTAL OF 9S AND 5S IN Q.1-16 = THREE OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET

ALCOHOLISM (FEIGHNER):

DEFINITE DIAGNOSIS: ONE OR MORE ITEMS CODED 5 IN AT LEAST 3 OF THE FOLLOWING 4 GROUPS:

I: 10,11,12,14
II: 2,17
Ml 9,18
Iv: 8,19

PROBABLE DIAGNOSIS: 2 ITEMS CODED 5 IN 2 DIFFERENT GROUPS, FROM THE GROUPS LISTED ABOVE
UNKNOWN: COMBINATION OF 5S AND 9S ARE NOT ENOUGH TO MEET ABOVE TWO THRESHOLDS
NEGATIVE: TOTAL OF 5S AND 9S NOT ENOUGH TO MEET ANY OF THE ABOVE, OR ALL ABOVE ITEMS ARE CODED 1

DRUG ABUSE/DEPENDENCE:

CRITERIAFOR 5: THREE OR MORE 5S IN Q.1-14
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOT MET PLUS:

TOTAL OF 9S AND 5S IN Q.1-14 = THREE OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET

DEPRESSION:

CRITERIA FOR 5: FOUR OR MORE 5S IN Q.1-14
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOT MET PLUS:

TOTAL OF 9S AND 5S IN Q.1-14 = FOUR OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET

MANIA:
CRITERIA FOR 5: THREE OR MORE 5S IN Q.1-12
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOT MET PLUS:
TOTAL OF 9S AND 5S IN Q.1-12 = THREE OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET
SCHIZOPHRENIA:
CRITERIAFOR 5: THREE OR MORE 5S IN Q.1-10 PLUS:
NEITHER DEPRESSION NOR MANIA ARE SCORED 5 ON FACE SHEET
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOT MET PLUS:
TOTAL OF 9S AND 5S IN Q.1-10 = THREE OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET
ANTISOCIAL PERSONALITY:

CRITERIAFOR 5: AGE = 18+ PLUS:
ONE OR MORE 5S IN Q.1-11 PLUS:
TWO OR MORE 5S IN Q.12-22
CRITERIAFOR 9: CRITERIA FOR 5 ARE NOT MET PLUS:
TOTAL OF 9S AND 5S IN Q.1-11 = ONE OR MORE PLUS:
TOTAL OF 9S AND 5S IN Q.12-22 = TWO OR MORE
CRITERIAFOR 1: NEITHER CRITERIA FOR 5 NOR FOR 9 ARE MET

UNSPECIFIED PSYCHIATRIC DISORDER:

CRITERIAFOR 5: SCREENING Q.7 =5
CRITERIAFOR 9: SCREENING Q.7 =9
CRITERIAFOR 1: SCREENING Q.7 =1
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